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D x=15,y=13.6

@x =16,y =13.6

® x=17,y=146

@ x=17,y=15.6
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@ x=130, y=33 @x=2, y=33
® x=130, y=30 @ x=20,y=230
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EB =FC °|2& x = AE 9} -2 20 o]t}
yE=AE:EB=2:32& o]&
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2:5=EG:45 .. EG=18
CF:CD=3:5,CF:CD=FG:AD

3:5=FG:25 .. FG=15

. EF=18+415=33
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AC ¢ BD 9] 74-& R&t1L ot
AP:PB=2:3,AP: AB=PR:BC°|BE&2:5=PR:15
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JHAY AP: AB=PR:BC =DQ:DC =RQ:BCo|E&
RQ=PR=6

~PQ=12
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11:22 =(24-x):x
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6. T3 I"3 Zo] F o] HPel Al A A
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@ 4cm @)4.5cm ® 5cm

@ 5.5cm ® 5.8cm




7. OABCD|A AD//BC ol 2AE — BE, AD = 6em , BC — 15cm
9w, NN 9] o2

A 6cm

(@)lcm @ 2cm @ 3cm @ 4cm ® 5cm

B ~

AE:AB=EN:BC=1:3°|2E21:3=EN:15.. EN=5
BE:BA=EM:AD=2:3°]222:3=EM:6 .. EM=
4

o MN =5-4=1(cm)
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AC:AE=AB:AD =BP:DQ
20:32=5:DQ
DQ =8 (cm)
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AB = x 211 5tH
AB:PC=BQ:CQ
x:(x=10) = (20 + 15) : 15
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10. % I"4A AB,PH,DC &= 2% BC

9} 4=Z]o]11, AB = 8cm, DC = 12cm
o o, PH ¢] Zdo]=?

@ 2.4cm @ 3.2cm
® 3.6cm @ 4cm
®)4.8cm

AB:DC=AP:CP=2:30°|E2
BC:CH=5:3
BC:CH=AB:PH
5:3=8:PH

- PH = 4.8(cm)




